MAT 126, Lecture 1, Sept 3, 2020
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Find f06 f(x)dz exactly using areas.












































































































































































Find f06 f(x)dz exactly using areas.
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Find f06 f(x)dz exactly using areas.
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Which is larger fol r2dx or fol r3dx?
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Which is larger fol edx or fol e*Tdx?
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Which is larger [z or [ sin(z)?
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Which is larger fol V1 — x2dz or fol V1 — ztdz?
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Is ["_sin(x)dx zero, negative or positive?

0.8 -
0.6 -
04

0.2 -

-0.2 -

-0.4

-0.6 -

-0.8 -






















Is f_ll xretdr zero, negative or positive’? f\/
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[s f()% x sin(x)dx zero, negative or positive? <~
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